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PHYSICS SSC-i

SECTION — A (Marks 12)
Time allowed: 15 Minutes
Section = A is compulsory. All parts of this

section are to be answered on this page and

handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.
Do not use lead pencil.
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| Question v A B G D Al B ] c]| ]
How many significant figures are there in
1. 0.004767 2 3 4 5 O O O O
e F I Sur et 0.00476
Which of the following is NOT a derived unit? |Watt Newton Kilogram Pascal
e AL g e B dln |l oy ¥ K O @ O O
A ball is thrown straight up, what is its
acceleration at the top of its path? Zero S5mist 10m/s? 15m/ s* O O O O
(.'D‘K”L-r(clfF)QE/L-(IKJllfL,‘):J.'HLJL-HL)-erEg{!'b{;dl_--—l:l &
A book of mass 10kg is placed on the table.
4. What is magnitude of force acting on the book?| 10N 50N 100N 150N O O O O
?'ab“JJ;;L?(J,h_,m?_rI;:K]Uu’t!’gﬁ‘I’_.L){;/‘.;f.fLT..g JL10 J£50 100 €150
O O O O

Which of the following will have maximum

K

.5_ torque? @ r]_—‘jl':sm - @ }—"=5m 3] 5 >:|.=4m 31 ﬁ—al':":
¥ rplepp bt e s Fan o i
& F,and F,components of a force are 3~ and
. 4N respectively. Then the magnitude of force
6. s _ 12N TN SN IN O O O O
= SUdius AN #3N w2 F, o F, L E08
nes =
@  Which of the following is CORRECT
representation of Newton's law of gravitation? i i i s
o . 4 — 1% o ki B 11" . L]
.7' M}JC’."I&’LQ}!‘FL{;d d{;&u}'fc—hbdﬂ;;ufu‘bn F ;'2 F=G ?‘2 F=G r F ” O o O O
Cee
. Atmospheric pressure is measured by: Hydrometer Barometer Manometer Thermometer
8. i W N . - s o O O O
. -.:_dl.g[,(.:_ U E‘,Jip.):}f’[ﬂ V) Fam A Y
S.1 unit of heat capacity is:
9, oo - JK kg™ Jkg™! JKE,
- Y D ¢ ¢ ¢ o O O O
Evaporation takes place from of | Upper surface
10, liquid. only Bottom only | Center only Any location O O O O
. ?.r_t’n.»_&u’(isLJfb’g}u_g.gi L{dfs¢le/ aé_)/‘ s r_JJ:Lfo(
1hp= watts
. ' 1
0 — h il 846 816 746 716 O O O O
. A stone weights 30N in air and 22N in water.
The buoyant force of water is: 30
WY oA 2N ol fe 308wt Actien| B 128 ol S2N o O O O
*-'Jﬁfwww
. ™ F},:J‘Vm—-LVMw. . H":mg . g:](_) m,fsz . T=Fx/ ® F= F:'.}.FZ
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PHYSICS SSC-i
Time allowed: 2:45 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 33)

Q.2  Attempt any ELEVEN parts. All parts carry equal marks. (11 x 3 =33)

(i
(ii)

(iii)

(iv)

v)
(vi)
(vii)
(viii)

(ix)

(x)
(xi)

(xii)
(xiii)
(xiv)

(xv)

Note:
Q.3 a.

Mass of earth is 6.0x10" Tera gram. Express this value in milligrams.

A train slows down from 80kmi~' with a uniform retardation of 2ms™ . How long will it take to attain a
speed of 20kmh™ ?

What is meant by the following terms?

a. Circular Motion b. Rotatory Motion C. Vibratory Motion

mv*

What is centripetal force? Also show that #, =—

I -

Differentiate between ‘weight’ and ‘mass’.
Briefly explain ‘center of mass’ and ‘center of gravity’.

Calculate mass of earth by using law of gravitation. (Diagram is not required)

Briefly explain the term '‘Couple’. Also give an example.

Determine the variation in value of 'g' with altitude. Also prove that g =G M,

(R +h)’

Under what conditions work done on the body is maximum and minimum.

A car has Kinetic Energy "k"- What will be the effect on its Kinetic Energy if its velocity is reduced to
half?

Why is plasma often called 4'" state of matter?

Liquids exert pressure. On which factors does pressure of liquids depend?

Differentiate between ‘boiling’ and ‘evaporation’.

Why does sea breeze blow during the day?

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x10= 20)

Describe the rate of flow of heat through solids. On what factors does it depend? Derive its formula, aiso
give its units.

The temperature of Islamabad in winter and summer varies upto 0°C and 40°C respectively. Convert
these temperatures into Kelvin and Fahrenheit scale.

State Pascal’s law. Describe working principle of hydraulic lift using Pascal’s law.

The change in atmospheric pressure in a region may indicate a change in the weather of that region.
Explain.

Describe the states of equilibrium and classify them with common examples.

A cricket ball is hit vertically upward and returns to ground 6 seconds later, calculate:

(i) Maximum height attained by ball (ii) Initial velocity of the ball.
—— 1SA-ll 2207—

Important Formulae

9

Ty =273+ T, . TF:ET"+32 . V=V, +al
; 1
2aS =v; —v; . S=vi+ Eafl . Pressure of liquids = pgh
W
s .*th . P=— . W =FSCosl
i
Chatput B y
1 Litre=1 Kilogram (For water) . Efficiency%=——— "8, 00 . lhp = T46 watt

Input Energy
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Important Formulae

N T, =2713+T: . TF=_9_-7;.+32 . v, =V, +at
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S LS L e L, Invigilator Sign.
. Fill the relevant bubble against each question according to curriculum: Candidate Sign.
B | question Jir A B c D AlB]c]| o]
. Which of the following Prefixes represents
1. smallest value? ) Mega Pico Peta Kilo
Y.T_L")jqLFLIJ‘J)‘:LE/(,;JJ/___U/c_Ju;@A E’:- !_Cy b )h’ O O O O
. A ball is thrown straight up, what is its
acceleration at the top of its path? Zero ) i -
. 2. HWCT/J):/'UJ:W’JU,d»:J:uLJc-uQ;‘-,U'K?;J)J/,ﬂf&(-Q 2 Sm/s 10m/s 15m/s O O O O
o
[ The weight of a body on the earth is 100N .
3. What will be its weight on the moon? 10kg 10N 100 kg 162N O O O O
B Wt b1 4 see 100N Lotsons
The work done by a body is maximum if the
4. angle between force and displacement is: 0° 30° 60° 90°
. -S'ﬁ‘ﬁl-}ﬂls-)&_ﬁ:;ﬁ ,:;UU\_/‘;JLM;AIU')JU" O O O O
lhp= watts.
B s e AT 846 816 746 716 O O O O
The unit of thermal conductivity is: -1l ~1gr-1 Wm K -1, g1
[ 3 . Sl JKg'K Win™' K m JS'mK O O O O
Molecular
. 7. In gases, heat is mainly transferred by: collision Conduction Radiation Convection O O O O
_‘L{‘jn};!.ﬁgfi t}fu':-/'iufyjfr ;.fl;r‘_/.jy_'.al. "_L_}-;u’“.{ c...;)‘)-fo)'.‘_} r'_u}&g;'(
. 5 Pressure of liquid in a container increases with: { Depth Area Volume Mass O O O O
; eyl bt S0 (s (Frpsts (=Dt
. Temperature of 0°C is equal to on
9. Kalvin scale. 373K 312K 300K 273K O O O O
. -(.m:l'/,ﬂ 4;}:Cu,v|f,.:~ﬂ]‘;n 0°C
Evaporation takes place from of | Upper surface
10. liquid. only Bottom only  |Center only Any location
. ?.g__t‘:fc_ﬁfielu‘fﬂ/lif-{l c'_gdb('ﬂ..if r__{___._!/ [0 T o .-_.SL(J’ O O O O
. Circular Rotatory Random
11. The motion of a body about an axis is called: |motion motion Linear motion {motion O O O O
.- f:fi;f.ﬁ;ig{(’-’&f =7 TrUE o S
n The value of gat a height !
equal to one Earth Radius h=R
[ ] (h=R,)above surface of ik
Earth will be: 1 1
1% . 2 g = =
B ococwowteisg Re g g g® O O O O
. T[,{KLS;K.;(}!=RG)J“;J"
L ] . W=mg . oo =1.62m/ 5% @ g =10m/s’ N T, =273+1,
7 M
. . Work = FSCosf} » Power = — . Pressure of liquid=pgh « k= Oxl . g=G £
t tAAT (R.+h)
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Time allowed: 2:45 Hours
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PHYSICS SSC-I

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
SECTION — B (Marks 33)
Q.2  Attempt any ELEVEN parts. All parts carry equal marks. (1M x3=233)
(i) How many number of milli grams are there in one ton of steel?
(i) How much time is required to change 44Nsmomentum by a force of 40N ?
(iii) Differentiate between ‘mass’ and ‘weight’.
(iv) Find magnitude and direction of a force by its rectangular components.
(v) What is moment of force (torque)? On what factors it depends? Explain briefly.
(vi) What is meant by equilibrium? Also state its conditions.
(vii) What is gravitational field? Also describe gravitational field strength briefly.
(viii)  Differentiate between ‘boiling’ and ‘evaporation’.
(ix) How is convection current useful in heating and ventilation system of buildings?
(x) Why is mercury used as a thermometric substance? Explain briefly by its thermometric properties.
(xi) A boy weighing 75N jumps up and gains 300/ P.E. What height did the boy reach?
(xii) A car has kinetic energy K. What will be the effect on its kinetic energy if its velocity is doubled?
(xiii)  Liquids exert pressure. On which factors pressure of liquid depends?
(xiv)  Derive equation V, =V;tal graphically.
(xv) Differentiate between vector and scalar quantities. Also give examples.
SECTION = C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)
Q.3 a State Archimedes Principle. How can the density of an object be determined using Archimedes
Principle?
b. The change in atmospheric pressure in a region may indicate a change in the weather of that region.
Explain.
Q.4 a What is meant by thermal expansion? Also prove that 2=z, (1+«AT)
b. A satellite revolves around the earth in an orbit of radius 42000k . Find the value of "g"and orbital
speed at this height.
Q.5 a. Two bodies of messes m, and m, are attached through a string passing over a frictionless pully. Drive
the expressions for tension in string (T) and acceleration (a)
b. What is meant by Kinetic energy of a body? Also prove that KE= %fm’z

— 15A-1 2307 HA —

Important Formulae

1ton =1000 kg . F =%’E . P.E=mgh
!

gh = G JM{" . KE = l."il'i‘l.-'2 L] Vo= G‘M"

) r 2 o ’

R ACED) ¢ M =60x10%k © R=GaxI0im

Pressure of liquids = pgh
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L L AL I (i
B A SON L LE S SNs e L6 ()
OO AUt slis (iii)
e s Sud L2 sLimBrmsst (iv)
oo e b L B S IS ST ey (v)
S FEN PSS p e fASE (V)
oo B S p W1 SR v s, (i)
SEO S S ae o B (viii)
st frac Ul ‘Pf" Y 0 a1 (ix)
Yoo B 5L alor® §§ v FEU1 bV Uerusd b L Spr 216/ 7 (x)
RPTARNS A Luiet /S LB 4300) et 2 A8 ie TSN Uik L (xi)
Sy S ST 7 3 U Sie K S0 7 S KL (xii)
sebn Syt 2l 6 a0 (xill)
el v =y ra el (XiV)
Py SO G oyl KE (xv)
o~ Sy
(2x10=20) (s f Lo - gES Jrne D
v et LD e SIS ik Lt if SheoS¥T 120 Ay
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L=L,(1+ 0 AT) Sy S et p e SUA A7 e Ay
A (EAFE 5N /lﬁ;;dxl.tf el ST e 2 820000167 dakis SEpioiir fi
S k(2
S Eint P S e s e yd P L gt ne e sa St m s m ALF s by
_q/;sic,lspé,,i(a)ﬁ)f-l LoD
KE=1mi S St en e $36767T =
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Important Formulae

» AP AT 1]
. FLi=1000 1 S¥ = G y=mgh

M op b g '
gh = G__L’ - L;'}ij'%!{= 51?1‘1" [ ] \,sﬁ — %
r

r

v, = ,fg,, (Ro+h) . M, =6.0x10"kg . R, =64x10°m

Skl = pgh




